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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions) 
 

Annotation Meaning 

 

Blank Page – this annotation must be used on all blank pages within an answer booklet (structured or 
unstructured) and on each page of an additional object where there is no candidate response. 

 
Unclear 

 
Benefit of doubt 

 
Cross credit 

 
Cross 

N/A N/A 

 
Highlight 

 Off page comment 

 
Repetition 

 
Tick 

 
AO1 

 
AO2 

 
AO3 

 
Omission mark 
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MARK SCHEME Section A 
 

Question  Answer Marks Guidance 

Option 1: 
Sparta 

   

Task 1a Laconia 
Messenia 
  

[2] 
AO2 

One mark for each correct response in either box. 
Candidates cannot be rewarded for putting the same 
response in both boxes.  Where candidates do this they 
should be given 0. 

Task 1b capture them 
enslave them 

[2] 
AO1 

One mark for each correct response in either box. 

Candidates cannot be rewarded for putting the same response 
in both boxes.  Where candidates do this they should be given 
0. 

Task 2 Helots worked on the land 
Perioikoi carried out any necessary trade 
Perioikoi helped to prevent the Helots from escaping  
Perioikoi produced items needed for everyday life  
Spartan women managed the households 

[5] 
AO2 

One mark for each response correctly identified.   
Candidates cannot be credited for trying to increase their 
chances of successful choice by choosing a greater number of 
answers than that required.  Each additional (beyond the 
number of responses required) wrong answer cancels out one 
right answer. 
If candidates have ticked all boxes they should be given 0. 

Task 3a B isolated  [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 3b A Aristophanes [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 3c B too much freedom [1] 
AO2 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 3d B enslaved Greek people [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 4a D they were with the army [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 4b B managing the farm [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 
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Question  Answer Marks Guidance 

Task 4c D so they would have healthy babies [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 4d C short skirts [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 4e C The young men were brave [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 5a B Eurotas River [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 5b C Mountains [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 5c C Narrow passes [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 5d D Taygetus [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 6 kings 
Ephors 
one year 
Gerousia 
60 
shouting 
Ecclessia/Apella 
30 

[3] 
AO1 
[5] 

AO3 

One mark for each response correctly identified.   
Mixture of AO1 and AO3 as candidates show both knowledge 
and understanding in order to make the passage make sense. 

Option 2: 
Pompeii 

   

Task 10a road maintenance 
temples 

[2] 
AO2 

One mark for each correct response in either box. 

Candidates cannot be rewarded for putting the same response 
in both boxes.  Where candidates do this they should be given 
0. 

Task 10b legal decisions 
public finance 

[2] 
AO1 

One mark for each correct response in either box. 

Candidates cannot be rewarded for putting the same response 
in both boxes.  Where candidates do this they should be given 
0. 
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Question  Answer Marks Guidance 

Task 11 caused the sponsor to be exiled.  
included stone throwing. 
involved people from Nuceria. 
resulted in games being banned for ten years. 
took place in 59 AD. 

[5] 
AO2 

Candidates cannot be credited for trying to increase their 
chances of successful choice by choosing a greater number of 
answers than that required.  Each additional (beyond the 
number of responses required) wrong answer cancels out one 
right answer. 
If candidates have ticked all boxes they should be given 0. 

Task 12a B two [1] 
AO2 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 12b C gardens [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 12c B mosaic [1] 
AO2 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 12d D study [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 13a A to become popular [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 13b B round [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 13c B 15 000 [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 13d C Seating was tiered. [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 13e E wild beasts and gladiators [1] 
AO3 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 14a B freed slaves [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 
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Question  Answer Marks Guidance 

Task 14b A bronze chests [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 14c A fountains [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 14d C They were successful in business.  [1] 
AO1 

If a candidate has chosen more than one response per 
question, 0 should be given. 

Task 15 Basilica 
Comitium 
Jupiter 
Apollo 
emperor 
Macellum 
Eumachia 
Weights and Measures table/office 

[2] 
AO1 
[6] 

AO3 

One mark for each response correctly identified.   
Mixture of AO1 and AO3 as candidates show both knowledge 
and understanding in order to make the passage make sense. 

 

 
 
 
 



 

Oxford Cambridge and RSA Examinations 
is a Company Limited by Guarantee 
Registered in England 
Registered Office; 1 Hills Road, Cambridge, CB1 2EU 
Registered Company Number: 3484466 
OCR is an exempt Charity 
 
OCR (Oxford Cambridge and RSA Examinations) 
Head office 
Telephone: 01223 552552 
Facsimile: 01223 552553 
 
© OCR 2015 
 

OCR (Oxford Cambridge and RSA Examinations) 

1 Hills Road 

Cambridge 

CB1 2EU 
 
OCR Customer Contact Centre 
 

Education and Learning 

Telephone: 01223 553998 

Facsimile: 01223 552627 

Email: general.qualifications@ocr.org.uk 
 
www.ocr.org.uk 
 
 
For staff training purposes and as part of our quality assurance  
programme your call may be recorded or monitored 

mailto:general.qualifications@ocr.org.uk
http://www.ocr.org.uk/

